2" X 10" ALUMINUM PLANK

THIS 3" x 1/2" HEX BOLT GOES
THROUGH THE LEG AND

SCREWS INTO THE BRACE

FILE NO. 62PGLA, 62PGLP, 62PGLF,62PGLRRP

2" 10" ACQ TREATED SOUTHERN YELLOW PINE 2" 10" REINFORCED FIBERGLASS SHELL

11/16" x 57 5/8"
GALVANIZED STEEL TUBE BRACE

6" x 8 3/4" x 1/4" GALVANIZED STEEL MOUNTING PLATES

www.FurnitureLeisure.com
www.PicnicFurniture.com
www.ParkTables.com

2 3/8" OD GALVANIZED STEEL TUBING

. WITH ULTRAGEL COATING 2°x 10" REINFORCED REGYCLED PLASTIC
5/167x 1 1/4" CARRIAGE BOLT AATE2 178 CARRIAGE BOLT e 1" 1" 11ga REINFORGING TUBE
Ny o ¥ = — = T
el gt [I L L J =———— r iR m/ i
=t = e 1 1Y , |
/ \ = = 3/8" 1 1/2" LAG BOLT = \ =
AOLBISCANECTIR SaNeENT  NUT&LOCKWASHER 3/8°x 2 1/4" CARRIAGE BOLT
62PGLF
62PGLA 62PGLP
62PGLRRP
~
g ~ 1/47x 3/4" DCRRI}E/\%I S(H:ARSEEV%I
\-}\-Ill\'?l’lNA-r(s)N?ALL HAlc\:ﬂMER.
ATTACH THE LEG ASSEMBLIES TO THE PLANKING LEG ASSEMBLY (2)
T RDWARE SHOWN ABOVE

WITH FA ON 60" CENTERS

FURNITURE LEISURE INC

OUR LIST OF WEB STORES

www.PoolFurnitureSupply.com
www.PicnicTableSupplier.com
www.UBrace.com

1.800.213.2401




